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- echoF—/\[L LR

- IP address: long.sfc.wide.ad.jp
- Port : 5525

FIB|HUTIPTRL X, 25| 8IKR— BB %18
FELED
- ./a.out long.sfc.wide.adjp 5525

- FERIILITDOWebR—I([Z T, SHBETHE

- http://long.sfc.wide.ad.jp/ tatsurou/09a—npro/




#include <stdio. h>
#include <netdb. h>
#include <stdlib.h>
#include <string. h>

int main(int argc, char *argv[]) {
int sock:

int ret;

char buf[256];

struct addrinfo *ai, *res;
struct sockaddr_in6 server;

struct addrinfo hints = {0, AF_INETS6,

SOCK_DGRAM , 0, 0, NULL, NULL, NULL};

ret = getaddrinfo(argv[1], argv[2],
&hints, &res);
if (ret 1=0){
fprintf (stderr,
“getaddr info (%s) ¥n”,
gai_strerror(ret));
exit(-1);
]

for (ai = res; ai; ai = ai—>ai_next) {
sock = socket(ai—->ai_family, ai->ai_socktype,
ai—>ai_protocol) ;
if (sock < 0) {
perror ("socket”) ;
exit(-1);
}
memset (&server, 0, sizeof (server));
memcpy (&server, ai—->ai_addr, ai-
>ai_addrlen) ;
break;

}

while (1) {
ret = read (0, buf, sizeof (buf));
if (ret < 0){
perror ("read”) ;
exit(-1);
}




ret = sendto(sock, buf, ret, 0, (struct sockaddr *)&server,
sizeof (server)) ;
if (ret <0){
perror (“sendto”) ;
exit(-1);
}
memset (buf, 0, sizeof (buf));
ret = recvfrom(sock, buf, sizeof (buf), 0, NULL, 0);
if (ret <0){
perror ("recvfrom”) ;
exit(-1);
}
printf ("%s¥n”, buf);
}
freeaddrinfo(res) ;
return O;

}
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Echo2 547 2 MLE

#include <stdio. h>
#include <netdb. h>

int main(int argc, char *argv[]) {

/* FIFATIRELL 7 KL ADEE */
getaddrinfo(argv[1], argv[2], &hints, &res);

/* VT FOERR */
sock = socket (ai—>family, ai—->sock_type, ai—>protocol);
/¥ HTET7 FLADOEE */

memcpy (&server, ai—>ai_addr, ai->ai_addrlen);

freeaddrinfo(res) ;




]

/* Ctr1-C NAhSThDFETHE +/
while (1) {

/* X—R—FT—32DANFBEZRIT */
len = read (stdin, buf, sizeof (buf));

/¥ TaA—H—IATF—HEE */
sendto (sock, buf, len, 0, (struct sockaddr *)&server,
sizeof (server)) ;

/¥ =N\ EDHEERZIEL. B/R */
recvfrom (sock, buf, sizeof (buf), 0, NULL, 0);
printf ( “%s¥n” , buf);

}

return 0;

}




getaddrinfo

- getaddrinfo(const char *nodename,

const char *servname,
const struct addrinfo *hints,

struct addrinfo **res):

- nodename=7R A4, servname=rk—F, hints(X[FER
DIAATIZET AEU K, reslEFER Daddrinfod!) A+
AN TR (RS

- BUE:RINT HE 0 7L, REXTHELLTDIEO
DIS—a—FDWWINhEFIRT,

- H—/\DEBEEIL

- nodenamelEXNULL
- hints|ZAI PASSIVED S5 4% F 9 3



addrinfof&g = A&

<netdb.h>
struct addrinfo {
int  ai_flags; /* Al PASSIVE, AL CANONNAME */
int  ai_family; /% PF xxx %/
int  ai_socktype; /% SOCK xxx */
int  ai_protocol; /% 0 or IPPROTO xxx for IPv4 and IPv6 */
size t ai_addrlen; /* length of ai_addr */
char *ai_canonname; /* canonical name for hostname */
struct sockaddr *ai_addr; /* binary address */
struct addrinfo *ai_next; /* next structure in linked list */



getaddrinfo® XY kLA

- BBHDTELANE-STLS (RFC3493)
- IF O THKBDIEEIDNSD EE(ZIKTF
- IO TE-FNFNIZHL TconnectL TH S

for(ai = ai_save; ai != NULL; ai->ai_next){
sockfd = socket(ai->ai_family, ai->ai_socktype,ai->ai_protocol);
if(sockfd < 0){continue;}
if(connect(sockfd, ai->ai_addr, ai->ai_addrlen)){
break;

}
}




socketO AT LO—)L

int socket(int family, int type, int proto)
- family[ZIX 7 AL D7) EIETE

+ AF_INET IPv4aZaka)L

- AF_INET6 IPv6aka)L

- AF LOCAL UNIX Domain Socket
- AF_ROUTE FRERHIGE Ay b

- TypelZIZV T IbDEAAT (LLTDOEND)
- SOCK_STREAM AR)—=LNTyk
- SOCKDGRAM  T—ARJ S LV vk
- SOCK_RAW raw*/ 7y

- ProtolZIdrawV vk LISt BEO



socketO AT LO—)L

B {iE
- BRI VTYNTARI) TAMNIRS
- KB -1ANRB
I IYNT AR TRET7AINT AR T RO KRE
EEROI—KTlE--
listenfd = socket(AF_INET6, SOCK_STREAM, 0)

AF INET6DIZEDFIFAINDHIPVED LI [=E
- SOCK_STREAM TCP
SOCK_DGRAM UDP
SOCK RAW ICMPv6, OSPFvVv3, etc



sendto) AT LO—)L

- ssize_t sendto(int socket,

const void *buffer,

size_t length,

int flags,

const struct sockaddr *dest_addr,
socklen_t dest _len);

- BALVfzsocketlTR LT, T—2F1XIET S

- HTHEL T, struct sockaddrfe XX TF7 kK
LRAZIETE



recvirom(O)> AT .L3d—)L

ssize_t recvfrom(int socket,

void *restrict buffer,

size_t length,

int flags,

struct sockaddr *restrict address,
socklen_t *restrict address_len);

BLV =socketlZX L TEIELTE-T—42Z=1{E
FEIETTEHMABIZIE., addressEI B RIS HsockaddrZziiA-H L
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echot—/\[LLLTF

- IP address: long.sfc.wide.ad.jp

- Port : 5525

ﬁ‘*%liqu)Web/\—/l T.Z>HEAgE

./I\\

istss.ad.jp/ tatsurou/09a—npro/

HeIIo server

[tazaki] Hello, server
How are you?

[tazaki] How are you?
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getaddrinfo

- getaddrinfo(const char *nodename,

const char *servname,
const struct addrinfo *hints,

struct addrinfo **res):

- nodename=7R A4, servname=rk—F, hints(X[FER
DIAATIZET AEU K, reslEFER Daddrinfod!) A+
AN TR (RS

- BUE:RINT HE 0 7L, REXTHELLTDIEO
DIS—a—FDWWINhEFIRT,

- H—/\DEBEEIL

- nodenamelZNULL
- hints|ZAL PASSIVEDZS 4 #85EF9 3



bindO AT LO—)L

int bind(int sockfd,struct sockaddr *addr,int addrlen);
- BALVEYYMZARTIEfTITS
- => PRLRZIBELT. Yy yrEFIAT S
- EEFTTFLRAZRELT, 1\ ybEiE(E
- BEFTBEFPRLR - R—FEBE
(451)
getaddrinfo (NULL, “47583”, &hints, &res);

for (ai=res; ai; ai = ai—>ai_next){
sock = socket(ai—>ai_family, ai—>ai_socktype; ai—>prototocol);
bind(sock, ai—>ai_addr, ai—>ai_addrlen);

|



recvifrom(O)v AT LO—)L(E)

ssize_t recvfrom(int socket,
void *restrict buffer,
size_t length,
int flags,
struct sockaddr *restrict address,
socklen_t *restrict address_len);

EETTEHAIZIX. addressE | I B S HsockaddrzEFRAH L

1))
/* ZELF=T—2DIEIETT FL R & peer| & */
readlen = recvfrom (sockfd[]j], buf, sizeof (buf), 0,
(struct sockaddr *) &peer, &addrlen_peer);
/* peere T DFEFEELETFURELTHIA */
sendlen = sendto (sockfd[j], buf, readlen, 0,
(struct sockaddr *) &peer, addrlen_peer);




=B =BIAAUDPTO—H—/\)

- UDP —H—N\ZT1ERT S
: 219 H7R—F&FE S (getaddrinfolF [ Z
1% JET%}T\ FEEIX. FER ST
I

- F)FEES 80749358

getaddrinfo(NULL, “49358”, &hint, &res):
bind(sock, ai—>ai_addr, ai— >a| _addrlen);

- DIATUNERIEMERLT= V54T e
FRAL. XEEY—/\DR—FEZLAT—
BEEET S
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AT NTAT S LEEESE D,

- HTEIPFRLRIZIZ.

- localhost(::1. JL—T 7\ 7KL X)) FI| FH R BE

- ifconfigaA <Y N TERARTIPv6 7L A £FI FH AT EE

- EZ4THD (cex0O1 TDISA4T 2 Mil)

- ./a.out 2001:200:1¢c0:1100:21a:64ff-fe8e:2e40 49358

- B—N\TOJ S LEFHFLTIE




